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Choose the correct option (1X15=15)

. [x"dx=7?
a) nx"1

b) xn+1

n+1
c)

xn+1
+c¢ ,Whenn # —1
n+1
d) None of these.

. IfKkis a constant, then the integral of k w.r.t x is -
a) kte
X
b) kx
c) kx+c
d) kx?> + ¢

dy
. lfﬂ = 6x,theny=7?
a) 6
b) 3x?
c) 2x?
d) 6x?
. [ sec? x cosec? x dx is a function of -
a) tanx
b) sinx
c) cosx
d) none of these.




. [cot?xdx=7?
a) cotx —x
b) x — cotx + ¢
c) x+cotx+c
d) —x—cotx+c

. To evaluate f sin? x dx , we use the formulae of -
a) sin2x
b) cos 2x
c) tan2x
d) None of these

. [ sinx°dxis -
L (o]
a) —cosx°+c
Yot
b) Tcosx°+c
180
c) —Tcosx°+c

T
d) ——cosx°+c
) 180 +

. The value of [ 23*dx =7

23)6
3log2

d) 3log2 x23* +¢

. [edleexdx =7
eslogx

a)

b es logx
) 5logx

5
c) %+c
6

d)%+c

2
10.[ X dx =2

X
a) %xz + log|x| + ¢
b) %x2+logx+c
c) x+loglx|+c




11.If the derivative of a function is Vx , then the function is -

a)

12,122 = 3x% — 2, theny =?
a) x3—2x+c
b) x3 —2x
c) %x2—2x+c
d) x3-2x*+c

13.If m = 0, then [ secmx tanmx dx =?
a) msecmx +c¢
b) mtanmx + ¢
C) secmx+c

t m
d) anmx_l_c

14.f2—35inxdx =7

cos2 x
a) 2tanx — 3secx +c¢
b) tanx —3secx +c¢
c) 2tanx —secx+c¢
d) 3tanx — 2secx + ¢

X

Va+l
3 1
a) gxi—x+2xi+210g|\/§+ 1| +¢

15.f dx =?

3 1
b) §x5+2xi+210g|\/§+ 1| +¢

3
) gxi—x+210g|\/§+ 1| +¢

3 1
d) %xi—x+2xi+log|\/§+1|+c
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